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1.

Sulphation in a lead-acid battery occurs due to

(A) Heavy discharging - (B) Fast chalt'g"ingr |
} \/(L)/ Incomplete charging ' (D) Trickle charging
| (E) Answer not known |
in the discharge rate, for a given battery results in a -
in the amount of electrical energy that.can be delivered.
(A) decrease, decrease | (B) decrease, increase
) increase, decrease (D) increase, ihcrease

(E) Answer not known |
At gradient height the shear force is .
_(A) minimum : \/({) Zero

- (C) one | | (D) maximum
(E) Answer not known - o
Practical efficiency obtained using wind mills is aipproximately in the
range of ;
(A) 5t010% - vé) 10 to 30%
(C) 30to50% - (D) 50 to 80%

(E) Answer not known
The wind intensity can be described by
(A) ‘Reynolds Number R (B) Mach Number
(C) Froude Number \/(6) Beaufort Number
E) Answér'not known | | |

3 3 ~ CEEE/2022
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6. Which one of the following statement is not true for a micro hydro
- scheme? | ' '
\/(‘X) A complicated and sophisticated control schenie 1s used
(B) It has a capacity less than 100 kW o
(C) Itis used where a grid does not exist
(D) Poweris generated for local use only

(E) Answer not known

7. Which of the following causes the least pollution when burnt?
. (A) Petrol = (B) Diesel
(C) Coal | . \AD) Natural gas

(E) Answer not known

8. A grld interactive solar system -

(A) Always supplies power to the grid
(B) Always receives power from the grid

\/(() Supplies and receives power from grid as required
(D) Works only when grid fails - '

(E) Answer not known

9. The angle in the horizontal plane between one line due south and one
horizontal projection of the normal to the inclined plane surface is

(A) Slope

(B) Solar Azimuth angle

C)  Surface Azimuth angle N
D) Zenith angle

(E) Answer not known

CEEE/2022 -4 . g
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10. ~ Assuming that all the flip flops are in reset 1n1t1a11y The count sequence -
observant @4 is

0 0/P .
: B DA QA DB . QB ’ DC QC
| — —> —>  _
! 9 2, | S
Clock r - - _ ' : > o ' -
A) 0010111 ~  (B) 0001011 |

~(C) 0101111 10 0110100
(E) Answer not known

11. Race condition occurs in an asynchronous sequential circuit due to -*

(A) the usage of more than 2 bits for state as31gnment
(B) more than one output 1n the circuit

VKJ) more than one change in state values during state transition
(D) useof T ﬂ1p flops in the circuit design \
(E) Anéwer not known

12. A4 x 1 MUX is used to 1mplement a 3-input Boolean functlon The‘
Boolean functlon F(A B, O 1mplemented is

A — To.
Cl— T,
0 I,
s, 8
‘/d)' F(A, B,0)=2(1,2,4,6) (B) F(A4,B,C)=2(1,2,6)
 (© F(A,B,0)=:(1,56) (D) F(4,B,0=2(@56)
(E) Answer not known o ‘
* - | 5 CEEE/2022
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13 A circuit that produces a perlodlc waveform in 1ts output with only the

dc supply voltage is , .
(A) Amplifier \A Oscillator -
(C) Rectifier ’ (D) Clipper

(E) Answer not known - -

14. The current gain of Darlington,pair' andvEmittor‘ follower is

and ———— and voltage gain is ——— and
respectively. - , L
A B,28,1,1 | - (B) 28, 8,2,1

SO L1 O B, 41,2

(E) Answer not known

15. A Class C amphﬁer 18 drlven by a 200 kHz 31gnal The trans1stor 1s ON
for 1 4S and the amplifier is operating over 100% of its load line. If

Ic(saty =100 mA and VCE(Sat) 0.2 V, the average power d1ss1pat1on is
@A) 04mW - \/64mw
© 40mW - D 4w

B .(E) Answer not known

- 16. - 01rcu1t is used to prov1de negatlve feedback for neutrahsmg
: the change in collector current.

(A) Voltage divider bias

(B) Base bias
(C) . Emitter feedback bias

\'/ﬂ/ Collector feedback bias

(E) Answer not known
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17. The enéi‘gy gap in a semivconductor,

(A)
(B)
(D)
(E)

increases with temperature

‘does not change with temperature

decreases with temperature
no energy gap will be there

Answer not known

18. Assume that D, D, are ideal diodes. The value of current I is

(B
(©
(D)

- (E)

i

% 2KQ

ol

A

% 2 KQ

0 mA
0.5 mA
1 mA
2 mA

Answer not known

19. In N type semi conductor, there are

@)
B)

e
‘/{

- (B)

No majority carriers

Holes as majority carriers
Immobile negative ions
Immobile positive ions

Answer not known

CEEE/2022
[Turn over



20. Salient pole alternators are used when the

A) speed of the alternator is low and med1um
(B) power required is large

(C) speed of the alternator is high

(D) voltage generated is high

(E) Answer not known

21. Ina generating synchronbus_machiné carrying load
Vé Etleads Viby an angle §
(B) Etlays Viby an angle &
(C) Efand V:are in phase
(D) Etrand Viare in phase oppos1t10n
(E) Answer not known

22.  The maximum electrical power output of a synchronous generator 1s‘
, V. E . 2
\/ﬂ{ L @ L
Xs

Ef | | |

©

(E) Answer hot known

23. Ina synchrondus machine, the induced emf phasor
(A) leads the flux phasor by 90°
- (B), isin phase with the flux phasor
\/(() lags behind the flux phasor by 90°
D) isin phase opposition to the flux phasor
(E) Answer not known |

CEEE/2022 8



25, The no load current drawn by a transformer is usually

24. A4 pole 50 Hz induction motor is running at —2% slip. The actual speed - -
of the rotor and its made of operatlon 18 : -
(A) 1500 rpm motor (B) 1470 rpm motor
- 1530 rpm induction generator (D) 1560 rpm alternator
(E) Answer not known | |

percent of the full load current.

@) 02 to 0.5 AT 2t05

(C) 12to15 - (D) 20 to 30
(E) Answer not known ‘

26. The purpose of providing iron core in a transformer is mainly

(A) to provide support to windings
(B) to reduce hysterisis loss
(C) toreduce eddy current losses ,
\/'(»E) to decrease the reluctance of magnetic flux path
(E) Answer not known '

217. In a 1100/200 V transformer, if the resistive and reactive drops are 1 and
5 Vrespectively, the % regulation when it is working at 0.8 p.f. is

@ 2% B 19%
C) 1.8% D) 2.3%
(E) Answer not known

98 A 25 kVA transformer has a Voltage ratio of 3300/400 V The prlmary .
" and secondary current will be
(A) . 4.0A,33A | ) 7576 A, 625 A
(C) 56A,66A R (D) 4.2A,58A
(E) Answer not known -

. S | 9 | | CEEE/2022
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29. A 4 pole lap wound d.c. shunt motor has 60 armature slots and each slot
contains 20 conductors. If the armature curfent is 50 A and flux per pole
is 23 x 10-3 Wb, determine the gross torque in N-m. Assume armature
reaction reduces the flux by 5%

(A) 417 Nm ~ (B) 644Nm :
0) 208.5Nm (D) 834 Nm | |

(E) Answer not known

- 30 A 4 pole dc generator has 378 wave wound conductors in 1ts armature.
If the flux per pole is 0.02 Wb, ‘and the generator runs at a speed of
1000 rpm, the induced emf is
A) 252V \ - (B) 252V

VO 252V (D) 2520 V
(E) Answer not known -

31. Airgap at the pole tips of a DC machine is képt more than that at the
-. centre of mains to reduce |

.

(A) reactance voltage

(B) _~effect of armature reaction
) losses of armature core |
(D) noise of the machine
(E) Answer not known &

32. A mathematical model of zero-order hold is

(A) e-sT (B) l_e—sT
_,=sT : ' -sT -
NG (& R O

S ' &)

(E) Answer not known

CEEE/2022 10 | *



33. A good control system has all the following features except
(A) good stability
slow response
(C) good accuracy N
(D) sufficient power handling capacity
(E) Answer not known

34. The Roulth array of a characteristic equation s given. The number of |
~ roots lying on the right hand side of S-plane is -

S* |9
S® |8
S22 |4
St |2
| 1801
A o0 | - B®1

'\/c{z | | @) 3

(E) Answer not known

35.. The given Bode Plot represents the transfer function,

dB a
T - 20 db/decode

| >‘ Alog W
K ' 1 . . ’ ' K . .
(A)} G(S)_E o (B G(S')‘ W .
| K | 1 o .
© CO=555 ;/<1)> G(S)=¢
(E)  Answer not known ‘ ,
¢ . m - CEEE/2022
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36.

The transfer function, of a system is

382 4+4S+4

: : . The characteristic
(S+2)%2 +(S+1) -

equation 1s,

(A) 3S2+4S+4=0

v (S+2)%+(S+1)=0 . | )

317.

38.

1
G(S)H(S)=
f()()(S

(C) (38%2+48+4)+(S+2)%+(S+1)=0
D) (S+2%(S+1)-(382+45+4)=0

(E) Answer not known

The transfer function of a system 1s T(S)———K—— The type and
| | S31+8T)
- order of the system is | | ,
(A) 2and3 (B 3and?2
(C) 3and3 S '\/@’)3and4k

(E) Answer not known

The open lodp transfer function of a feedback control system is

. The gain margin of the System is
+1)3

w2 B 4

\/C) 8 | - D6

39.

(E) Answer not known

Which of the followmg effects in the system 1is NOT caused by negatlve
feedback? ~ , |

| (A) Reduction in gain
. (B) Increase in Bandwidth

| v(() Increase in distortion

(D) Reduction in output impedance

(E) Answer not known

CEEE/2022 o 2 | 4



40. A lvarying magnetic field linking a coil is given by ¢=%/1t3, if at time
t =3 sec, the emf induced is 9 V then A is Iy |
(A) zero . o B 1 Wb/sec2
‘/{d —1 whb/s2 . (D) 9 wb/sec?

: (E)} Answer not known : '

41. Which of the following field equation 1ndlcate that the free magnetic
charges does not ex1st?

= - —. Idl x &
@A H=( a) B) H=
@ (/ﬂ)(?x ) | ® H=["—
- ./6 V-H=0 | D) VxH=J

(E) Answer not known

42. Statement A : Magnetic current consists of entirely a d1sp1acement
~ component and no conductance component.

Statement B : Magnetic flux lines are always continuous v
: \/(ﬁ( Both Statement A, Statement B are correct. Statement B is correct
explanation of Statement A : : - :

(B) Both Statements are correct. But Statement B is not correct
explanation of A

(C) Statement A is true but B is false
(D). Statement A is False, but Statement B is true
(E) Answer not known ‘

43. The expression §H I J-ds represents
S ,
(A Lenz's Law (B) Maxwell equation
AC) Ampere'sLaw (D) Faraday’s Law

(E) Answer not known

* o 13 IR CEEE/2022
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44, The ideal transformer has N 9/N; =10. The ratio V, /V, is

—I, NiN, <1,

g
@ 10 | ® 01

(C) -0.1 v0) -10
(E). Answer not known

45. A coil of 500 tufns 1s linked by a _ﬂux of 0.2 me If the flux is reversed

in 0.01 s, then the emf indu_ced in the cgil is
"~ (A) 200V B) 20V

© 2V | M) 0.2V
(E) Answer not known

1 g
47[80 Rz

46. The total electric flux is given by the expressio'n P =

- What can you say about the flux? .
(A) The flux is dependent of the radius R of the sphere
) The flux is independent of the radius R of the sphére
(C) The flux is inversely proportionél to q |
(D) The flux is directly proportional to &, _ d
(E) Answer not known

47. Find the potential between points p(1, -1, 0) and q(2, 1, 3) with

E = 40xyi + 20x%j +2k - |
@A) 104 L | (B) 105

VO 106 (D) 107
(E)  Answer not known

CEEE/2022 - 14



48.l
Q) §Q-dI=O . WD §Q-dS=O
L : S

49.

50.

51.

s @) —;—gE : ‘[g) %gEz

52.

If a vector field @ is solenoidal, which of these is true? '

C) VxQ=0 D) VxQ=0
(E) Answer not known DR

Given ﬁel‘d A= 3x2yzax + x3zay + (x3y ~22)a, it can be said that A is

(A) Harmonic , (B) Divergenceless
(C) Solenoidal ' ‘/[{) Conservative
(E) Answer not known ’

A potential difference Vo is applied to a mercury column in a cyhndrlcal )

container. The mercury is now poured into another cylindrical contalner
of half the radius and the same potential difference V, applied across

- the ends. As a result of this change of space, the resistance will be

increased
(A) 2 times (B) 4 times

(C) 8times D) 16 times
(E) Answer not known :

The energy stored in Electric field is

©) &E* | (D) None
(E) Answer not known

The number of links required to connect 8 nodés in mesh topblogy 1s
4) -8 ' B) 16
© 7 | W28
(E) Answer not known = o
| 15 - CEEE/2022
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53. Multlplexmg techmque that shifts each signal to a dlfferent carrier
frequency is called : , :

Frequency Division Multiplexing
(B) Time Division Multiplexing
(C) Both (A) and (B)
(D) Space Division Multiplexing
(E) Answer not known

54. | Which of the following block is not a parf of the PCM transmitter?
- (A) Sampling | |
(B) Quantiz_ati'on
)?, Encoder
) Decoder

(E) Answer not known

55, In pulse. code modulation,‘ when number of quantization levels increase,

(A) Noise decreases, cost reduces, BW decreases
AB) Noise decreases, cost increases, BW increases

(C) Noise increases, cost reduces, BW decreases

(D) Noise increases, cost increas‘es, BW increases
(E) Answer' not known

56. If the DFT of a signal x, (n) 1s Xl (K) and xz(n) is Xz(K) then the
circular convolution of the signal x, (n) * x4 (n) is

v\(> X, (K) X,(K)

® X, (K)+X,(K)
©  X,(K)-X,(K)
@) X,(K)-X,(K)

(E) Answer not known

CEEE/2022 16 AT &



‘57. The value stored in RAM location 30H is 40 H and the value stored in
RAM location 40 H is 10 H: What will be the value in the accumulator
after the following instructions are executed in 80517

MOV RO, #.30H MOV @R1, A
MOV A, @ RO XCHD A, @ RO
MOV R1, A
MOV A, # 7FH |
(4 7FH (B) 4FH
(C) 40H D) 70H

(E) . Answer not known

58. The seventh bit D; of control reglster in 8255 is 1. It spemﬁes that, . -
- Dg — Dy determines

| wﬁ) /0 functions in various modes (B) Input mode |
(C) Output mode | : (D) Bit set/Reset mode
(E) Answer not known | |

59. Match the follbwing :

- Programmable USE
Devices | .
(a) 8253 1. Programmable Keyboard and ’Displéce
Interface - '
(b) - 8255 2. Direct Memory Access
- (c) 8257 3. Programmable Interval T1mer/Counter
(d) 8279 4. Parallel /O
@ ® © (d)
(A 3 1 2 4 .
) 3 4. -2 1
C 3 2 4 1
2 3 4 1
(E) Answer not known
* R R 17 CEEE/2022
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60. To save energy during braking
"(A) Dynamlc braking is used
(B) Plugging is used ‘
AC) Regenerative braking is used

D) ‘Mechanical braking is used
(E) Answer not known

61, SMPS is used for |
A) - obtainihg controlled ac power supply
\KB{ obtaining controlled dc power supply

-' ~ (C) storage of dc power
(D) storage of ac power

(E) Answer not known - | o .
62. Statement A : A line-commutated inverter changes DC voltage into
} AC voltage ,
Statement B: A single phase half bridge 1nverter uses two tyristors

. (A) . Statements A and»B are true. B explains A
\/(B)/ Statements A and B are true. B is not explanation for A
(C) Statement A is true. Statement B is false
(D) Statement A is false. and B is true
(E) Answer not known

63. If a three phase bridge inverter, each step consist of

@) 30 VB 6o |
© 90 S (D) will depend on firing angle .
(E) Answer not known -

CEEE/2022 » 18 o Y



64. In a single phase half controlled converter, for continuous conduction,
free wheeling diode conducts for

A rz-a
B) =«
O a
D) z+a

(E) Answer not known

'65. A'step down dc.dc chopper has a resistive load of R:15 Ohm and input
voltage Vs:200V. When the chopper remains ON, its Voltage drop is 2.0
V. The chopper frequency is 1 kHz. If the duty cycle is 50%, then the
average output voltage is

&) 100V
® 101V
vO 9V
D) 98V

- (E) Answer not known

66.  The circuit shownis a
VT ¢, 0o

v(ﬁ( Step down chopper ,

(B) _Half wave rectifier
(C) Step up chopper

(D) Full wave rectifier
(E) Answer not known

ov)
MN
=

4 | - 1 . CEEE/2022
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67. Match the List I (waer Electronic Converter) with List II (Applications)

and choose the correct answer from the codes mentioned below:

List | (onwer Electzjonic C‘(})‘nverter)’  ListII (Applicationg) .
(a) Pha-se Confrolled AC-DC | 1. High freguéncy |
converfers} ' ' | | inductidn heating
| ‘(}b) AC voltage éontrolier 2. High power low speed
| | AC»Drive‘ |
(0 'Cycie converter - | , | | 3. Ceﬂing Fan Regulator
(d) Inverter o | 4. Baftery }charge o
| | : controller.

@ B © @
'./A) 4 3 2 1 |
®4 3 1 2
©3 4 2 1
M 3 4 12

(E) Answer not known

CEEE/2022 ~ 20 ' B , 2



68. Which of the followmg is used in SCR to protect from hlgh dv/dt?

./ Srubber circuit

Fuse
(C) Equalizing circuit
(D) - Circuit breaker
(E) Answer not known

69. Match the List I (Parameters) with List II (Devices) and select the

correct answer using the codes given below the lists:

List I (Parameters) |
(a) Pinchoff voltage

(b) Latching current
(¢) Softness factor

(d) Soft and hard saturation

@ ® ©© @

@2 4 3 1
®1 3 4 2
©) 1 3 2 4
\/(’15) 2 4 1 3

(E) Answer not known

List I (Devices)

1. Power diode !
2. Power MOSFET

3. Power BJT

4. SCR

21 o . CEEE/2022
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70.  Consider the following statements. Which of the following are correct?

(1) PositiVe sequence currents are present in all types of faults.
(2) Negative sequence currents are present in all unsymmetrical faults.

(3) Zero sequence currents are present when neutral of the system is
grdu‘nded and the fault involves the ground.
@A 1 and_ 2 only |
’ : (B) 1 énd 3 only
(C) 2and3 orﬂy

"\/ﬂ 1, 2 and 3 only

(E) Answer not k’nowh |

71. A circuit breaker is esséntially
(A) 'ari a-rc, extinguishei'
Vfg) ‘a current interrupting device
» (C) . a .pOWer'fa'ctc‘)’r correcting device
D) a device to neutralise the transient effects

(E) Answer not known

CEEE/2022 - o 22 S | R 2



72. Match the List I (improvements in transmission system) Wlth L1st I

73.

(effects due to improvements) and select the correct answer us1ng the

codes given below the lists:

List I (improvements)

(é) Increasing the spacing

between conductors

() Increased. flashover voltage -

(¢) Increasing sag in overhead

line

(d) Usage of gaurd ring

(a)
A) 2

'(B) 4

VO 3

D) 4

(b)

4
.

4
2

©
1
2
2
3

3
3
1
1

d

(E) Answer not known

List II (effects)

Increase string efficiency

'Reduces tension in the

 overhead line

Corona reduces

Safety factor of insulator

increases

The strlng eff1c1ency of a hlgh voltage line is around

(A) 100%
(C) 40%

(E) Answer not known

\/(g)SO%;

D) 10%

CEEE/2022
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74. For a 400 kV line, the numbers of discs in an insulatgr}'string is around

(A)  37 | | (B) 31

S s (D) 16

(E) Answer not known

' 75. Large size steam plants and nuclear plahts are suitable for
(A) Peak loads

(B). Intei'mediate loads

V(G) Base loads

(D) Both base and peak loads

(E) Answer not known

76. Determine the new per unit impedance Zp. new if the base MVA and
base kV are doubled and the old per unit impedance Zp, old is 0.1 on its

- own base values.
A 0.8 (B) 0.2 o '
VO 005 : D) 0.01 . .

(E) Answer not known

7 7.V Loca‘t,ion‘of a surge tank in a hydro electric power systein 1s near
;/d) Turbine | | |
(B) Tailrace
(© Reservoir

(D) Dam
(E) Answer not known

CEEE/2022 | 24 | ¢



78. Identify' the element, which is not a part of a data acquisition system.

(A)
(B)
C)
(D)
(B

79. A signal has minimum and. maximum values of —5V and +5V
respectively. To record a 0.01 V change of the signal value, :

Digital to Analog converter
Filter

Display

“Timer

Answer not known

length of A/D converter is required.

(A) 4 bit (B) 8bit
,,()/ 10 bit : D) 0bit

(B)

Answer not known

80 A current carrying conductor is shown below in Fig. (a), If it is brought

‘in a magnetic field in Fig. (b).

Gy

(9}

(D)
(E)

Fig(a)  Fig(b)

it will experience a force from left to right

it will experience a force from right to left

it will experience a force from top to bottom
1t will experience no force
Answer not known

25 ' _ o CEEE/2022
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81. The variable-inductance type electrical transducer is
) LVDT |
(B) Strain gauge
(C) Capacitive transducer » ; o
(D) Photovoltaic cell '
(E) Answer not known

82. The nominal ratio of a current transformer is

(A) Primary winding current/Secondary winding current
B) Rated primary winding current/Rated Secondary winding current
(C) Number of Secondary winding turns/Number of primary winding

turns :
(D) (PrimaryWinding Current)2 |
~ \/Secondary Winding Current 2
- (E) Answer not known

83. An electrodynambmeter type of instrument.ﬁnds'its major use as

(A), standard instrument only
~x{) both as standard and transfer instrument
(C) transfer instrument only
(D) indicator type instrument
(E) Answer not known

84. For a certain load one of the wattmeter reads 20 kW and the other 5 kW
after the voltage circuit of this wattmeter has been reversed. The power

factor of the load 1s | P
~ (A) 0.1273 leading (B) 0.3273 leading
- AO  0.3273 lagging (D) 0.1273 lagging

(E) Answer not known

CEEE/2022 . 26 S



- 85. A Maxwell’s bridge is used to measure an inductive impedance. The
4bridge constants at balance are C; =0.01 uF, R, = 470 kQ, Ry, =5.1
kQ, and R; =100 kQ. Find the series equivalent of the unknown

impedance.

(4) Ry =1.09KkQ, Cx =001 4F

%RX—IOQkQ Ly=51H

(© Ly =51H, Cx =0.01 4F
(D) Lyx=51H, Ry=0.109kQ

(E) Answer not known

~ 86. Thé power cdnsumption of PMMC instrument is tYpically‘about
A) 025Wto2W

(B) 0.25 mW to 2 mW
T 25 uW to 200 4 W
(D) 0.25 uWto2 uW
' (E) Answer not known

87. The dampmg force acts on the moving system of an 1nd1cat1ng
instrument only when it 1s

V(AY mov1ng

- (B) stationary , ,
(C) near its full deflection | | ¢
(D) just starting to move

(E) Answer not known -
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88. In a delta connected three phase system, the relation between the line

and the phase values of voltage and current are
I V=V, I =81,

' B Vi =+/3 Vph’ Iy, = Ip,

V. L | |
€ Vi =3 Iy =Tpn , | .
D) V,=V,, I, =—%
( L ph L \/§

| _} (E) Answer not known

89. . The sum of the Instantaneous voltages ardund a delta connected supply

is equal to
(A) the maximum line voltage
B) twice the maximum line voltage

(C) /2 times the rms Valué of the phase voltage

l(f{ Zero

(E) Answer _nbt k_nowﬁ

90. Condition for reciprocity of two port networks is

(C AD+BC=1
(D) Ah=1
(E) 'Answer not known
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91. In an RLC parallel circuit —— and ———— ére minimum at

resonance.

% current, admittance

(B) voltage, resistancé
(C) voltage, impedance
(D) current, impedance_

(E) Answer not known

92. In a series RLC circuit, if C is increased, what happens to resonant

frequency?
(A) It increases

(B) It remains .the same

) It decreases

D) It becomes zero |

(E) Answer not known

93. A parallel RLC cifcuit has” L = 2H and C = 0.25 F. The value of R that

will produce unity damping factor is

(A 0.5Q
® 10
Jz)‘ 20
D) .4Q

(E) Answer not known
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'94. For the tank circuit shown below, find the circulating current at
resonance, for a supply voltage of V volts (a.c.). Neglect any resistance of
the circuit. '

N V |
L -—~C
| o VL 1/2 , L 1/2
w [¢] ® g

o g’ o[

,(E) Answer not known

95. In the circuit shown below, find the current-through the 5Q resistor

- (1 5Q
v ® g

@ JA
«B)/zA |
©) 10A

D) 20A

(E) Answer not khown
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97.

98.

96. The voltage across 30Q in the circuit shown is

8Q | .

| +
0V g) 100 V

o | 30 Q 20
@ 30V ver45V
(C) 18V o (D) 24V

(E) Answer not known

-

The Thevenin impedance of a network seen from the load terminals is
(80 + j55)Q . For maximum power transfer, the load impedance must be

A) (-80+j55)Q (B) (~80 - j55)Q
(80 - j55)Q o D) (80+j55)Q
(E) Answer not known |

Find Vg, if the current I in the circuit shown in the figure is 0.40 A

5Q 10V
o] ry Lowmn I
V1 '
5ovt—:' r\I) é 20Q
. _' + | »
oty b |
@& 10V ®) 15V o -

- (© 20V AT B0V

(E) Answer not known
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99. The simplest method of hydrogen production is

(A).

(©)
D)

(E)

~Biophotosynthesis

Electrolysis of water '
Steam reforming of Methane
Thermolysis of water |
Answer not known |

100. As load is increased on an open circuited a fuel cell

(A)

Its efficiency i Increases

(B) _~1ts output voltage remains unchanged
| ) Its output voltage decreases ,

(D) Its output voltage increases
E) Answer not known |
101. As compared to a lead-acid cell, the efficiency of a n1ckel -iron cell i is less
due to its
(A) ' Compactness |
B Higher Internal Resistance
" (C) Lower e.m.f. |
(D) Smaller quantity of electrolytes used
(E) Answer not known

102. Wh1ch of the following statements is not true about battery storage" |

(A)
(B).
vO

D)

®

CEEE/2022

It is a modular and portable source of energy

The cost of battery storage is high
It has prolonged life

It has the ability of rapid switchover between charging and
discharging operations

Answer not known -
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108. Darriené rotor is associated with

(A)

O
()

- Tidal energy -~ (B) NuClear energy

Vertical axis wind turbine (D) Horizontal axis wind turbine

- Answer not known

104. If the speéd of a wind stream remains unchanged while passing through

the rotor,
(A) alarge power will be generated
- (B) the flow 1s known as stalled flow |
(C) the speed of the rotor will be very high

)

(E)

zero power will be generated

Answer not known

105. Induction generator used in wind mills

(A)
(B)
(D)
(E)

cannot work in isolation

can work in isolation

should work in parallel with synchronous generators
vshould work without synchronous generators

Answer not known

106. An Induction Generator Controller (IGC) controls

A)
(B)

Only the voltage and not the frequency

Only the frequency and not the voltage

\/@f Both the voltage and frequency

D)
(E)

The power input to the generator

Answer not known
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107. For small schemes (less than 2 kW), (12 — 24V) dc generatlon 18 des1rable.
where

\/() - All loads are close to the generator
(B) All loads are far away from the generator

(C) Only lamp loads are used
(D) Only dynamic loads are used
(E) Answer not known

108. A cylindrical parabolic concentrator requires

(A) no tracking : \/B) one axis tracking
(C) two axis tracking (D) seasonal adJustment

(E) Answer not known -

109. Global Warmiﬁg is mainly caused due to

(A) Air Pollution
(B) Emission of heat from engines

\/(() Emission of CO2 due to burning of fossil fuels
(D) Use of Nuclear Energy
(E) Answer not known

110. In the figure X; =1, X, =1, the output Q remains

v T

| (A). atl (B) at 0

(C) atvits initial value \%f unstable

(E) Answer not known
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111. The logic circuit shown in figure realizes the function

\/QK XOR - - | (B) XNOR
(C) Half adder (D) Full adder
- (E) Answer not known ' »

112. Direct couple amplifier is used to amplify

(A) frequency below 100 Hz

V(’BS frequency below 10 Hz
~ (C) frequency above 10 kHz

(D) frequency above 20 kHz
(E) Answer not known

113. Another name of voltage to frequenéy converter is
(A) Astable Multivibrator

(B) Monostable Multivibrator
(C) Phase lock loop A

‘/fﬁ) Voltage controlled oscillator
(E) Answer not known

 114. The ideal Op-Amp has the following characteristics

&) R =0,R,=0,BW=0 ‘B R = R,=0BW=
C R =0,R,=w0,BW=0o . (D) R;=w,R,=c0, BW=0
(E) Answer not known '
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115. What happens when emitter bypass capacitor gets open circuited in CE

amplifier? :
(A) No change in the output voltage
(B) AC base voltage decreases

) AC base voltage increases
(D) AC base voltage become zero
(E) Answer not known -

116. The frequency of oscillation of the oscillator circuit shown in ﬁgure

A
- (B)

'(©)

(D)
(B)

]

R;’_ || T ¥

1wt
=
-

-
(@)

27 RC

Answer not known

117. A centre tap full-wave rectifier supplies a load of 1 kQ. The ac voltage
- across the secondary is 200-0-200 V (rms). If the diode resistance ‘is
neglected, the d.c. load current is

(A)
©
(E)

CEEE/2022

18A | \,(ﬁ) 0.18 A
09A D) 9A
Answer not known '
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118. The V-I characteristics of the diode circuit is given below
(v-01

i=4 500
04,V <0.7V

AV >0.7V

—

10_VT - A

’Thg current in the circuit is |
@ 10mA  (BL9.3mA
(C) 6.67TmA | D) 6.2 mA
(E) - Answer not known

119 What are the states of the three 1deal dlodes of the 01rcu1t shown f1gure‘7 |

1Q
. " 10 VVV - |
I V4 AN
1037 T D 1Q | D, (’DSA ;

' D,ON, D OFF, D; OFF (B D; OFF, D; ON, Ds OFF
(©) DiON,D:OFF,DsON (D) D1 OFF, D; ON, D; ON
"(E) Answer not known . o

'120 The power factor correction capability of a loaded synchronous motor
with the increase in mechanical load.

\/( A) ‘decreases ~ (B) increases |
(C) remains unchanged (D) none of the above
(E) Answer not known T

¢ - . R : CEEE/2022
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121. The main reason for us1ng a hysteres1s motor for hlgh quality tape-
recorders is that '
(A) its speed is constant

) it develops extremely and steady torque able to synchronous any
load o

- (C) . it requires no centrifugal switch
(D) 1t is unaffected by mechanical vibration
(E) Answer not known |

122. The synchronous speed of a 3 phase induction motor having 6 poles and
running at 970 rpm when connected to a 50 Hz supply is :

(A) 1500 rpm o .V({;OOO rprrl :

(C) 1200 rpm 5 (D) 3000 rpm
(E) Answer not known ‘

123. The power fector of a squirrel cage induction motor is

\/65/ low at light loads - (B) low at heavy loads
(C) low at light and heavy loads . (D). low at rated load only

- (E) | - Answer not known

124. The starting current of an induction motor is five times the full load
current while the full load slip is 4%. The ratio of startmg torque to- full
load torque 1 18 , ,

A, 0.6 . @B o0s

v«f/lo | . D12

(E) Answer not known
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125. In a small transformer the primary and secendary windings are of thin

wires. In a short circuit test, the frequency is increased to 100 Hz from

50 Hz

(A) the copper losses will 1 increase by four times L

(B) the copper loss will reduce to one fourth o
\/t() the copper loss will remain the same

(D) the copper loss will be doubled

(E) Answer not known

~126. The DC generator that has poorest V.oltayge'regulation is

A)

©

D)

(E)

Shunt generator

Series generator
Flat-compounded generator
Over-compounded generator

Answer not known

127. A 10 kW, 250 V dc, 6 pole shunt generator runs at 1000 rpm. When
. delivering full load. The armature has 534 lap connected conductors.
Full load Cv loss is O. 64 kW. The total brush drop is 1 Volt. Determme

the flux per pole. Neglect shunt current.

e

®)

©
®)
T ®

L 4

0.3mWb R R

30 me
90 mWb

0.9 mWb

Answer not known
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128. If there is a contact error in the output signals, derivative control will

[7ND
(B)

D)

(E)

129. A lead compensator in a control system

(B)
(0
D)

(E)

reduce the error to zero

reduce the error but not secularly to zero
loss to effect on the error '
iﬁcrease the error ‘

Answer not known

speeds up the transient response and 1ncreases the margin of

stability of the system

slows down the transient response and increases the margin of
stability of the system :

speeds up the transient response and decreases the margln of

-stability of the system
slows down the trans1ent response and decreases the margm of

stability of the system
Answer not known

130. The gain margin for a stable system

T ©
(B

has a pbsitive decibel value (B) has a negative decibel value
has zero decibel Va‘lue_ (D) has an 1mag1nary decibel Value

~ Answer not known

131 In Bode plot' the factor L in the transfer function'gives a line having

slope.

A)

Jw

—20 dB per octane o B) -10 dB per octane |

—6 dB per octane - (D) -2 dB per octane

(E) Answer not known
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132. The 'chara_ctéristic equation, of a system is given by,

S3 +3S2%2+2S+5=0. The system 1s, -
(A) unstable \/{stable

(C) partially stable . (D) marginally stable
(E) Answer not known ’

133. In the Bode plot of a unity feedbac‘k‘control system, the value of phase of
G (jw) at the gain cross over frequency is (-125°), the phase »ma‘lrgin of
the system 18, - o -

A) -125° - (B) 125°

\/(C) +55° (D) —55°

(E) Answer not known -

134. A negative feedback closed loop syste;n is supplied with an input of 10 V.‘
The system has forward gain of 1 and a feedback gain of 1. The output

voltage 1s, ~ ‘ | -
@) 25V A sV
© 10V | " 20V

(E) Answer not known

185. If a system has two real and equal characteristic roots, it is described as

(A) having to damping \/é) being critically damped
(6)) being underdamped (D) being overdamped

(E) Answer not known

136. The characteristic equation'of; a closed loop systém is S2+25+2=0.
Then» the system 18, '

(A), over d‘amped (B)} critically damped

%6 under damped N (D) undamped
(E) Answer not known o
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137. For the block diagram shown, the transfér function RS) equals
’ - ‘- C(S)
R(S) - 1/8 /8
824 ‘ S?+8+1
@ ) T
S?+S+1 | | ' 1
© 83 I D) S?2+S+1

(E) Answer not known

' 138. The transfer function of the 'g"ivenvblock diagr‘am,ivs,

RS T $ — C(S
(-—-—-—-) 1/G’2 A G1 > Gz' : >( )

oS G A CS_ G
@) R(S) 1+G,Gy : \/6) R(S) 1-G,G,
© S8 __G », (D)_C(S)= G,

R(S) 1-G,G, R(S) 1+G,G,

(E) Answer not known

139. The characteristic polynom1al and the poles of a system with the transfer

4(S +2)
function, G(S)= S+3G+d) 18

(A) 4S+8and-3and—4
B) S%2+78+12=0 and -2, -3 and —4
(C) 4S+8 and-2

\/(6) S% +75+12 =0 and —3 and —4
(E) Answer not known

CEEE/2022 o | 42 | L *



' 140. An émf will be induced in a conductor if

(A) it is perpendicular to the inagnetic field
(B) it is parallel to the ’m'agnetic flux

© it lies in any direction to the flux

‘/(ﬁ) it is moving at‘r‘ight angle to the flux

141.

(E) Answer not known

The Lorentz force in vector notation is '

| V& (TXE)L

® (2-B%)L

© JI/B-L
' L
@) J1I/B

(E) Answer not known

142. A circuit has 1000 turns enclosmg a magnetic circuit 20 cm? in section.

143.

With 4A, the flux density is 1.0 Wb/m? and with 9 A, it is 1.4 Wb/m2. The
mean value of the inductance between these current limits 1s

A) 1600H (B) 160 H

(©) 16H D) 0.16 H

" (E) Answer not known

The coefficient of coupling for two coils having Li= 2H, Le=8H, M =3H ié

(A) 0.1875 - ) 0.75

(C) 1.333 | | - (D) 5.333

(E) Answer not known
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144. Statement A: The current in a constant inductive system does not

change instantaneously.

Statement B: In constant inductive system the flux hnkage 18

(©)
D)

(E)

conserved initially

Statements A and B are true Statement B is correct explanation

. (A)
for A . : »
(B) Statements A and B are true but B is 'not correct explanation for A
\/QC{ Statement A is true and Bis false
(D) Statement A is false and B is true
(E) Answer not known |
145. V - (Vx A)is equal to .
@ 1 | - B) -1
(E) Answer not known
146. A wedge is described by z =0.30° < ¢ <60°. Which of the following 1s
incorrect? |
@A)

The wedge lies in the x — Y plane

It is infinitely long
On the wedge, O< p<a
A unit normal to the wedge is + a,

Answer not known
’

147. A potential field is given by V =3x2y — yz. Which of the following is not

trye?
| \/é
(B)
(€)
(D)
(E)
CEEE/2022

At point (1, 0, —1), Vand E vanish

xZy=11s Van equipotential ]ine on the xy plane |

The equipotential surface ‘; = -8 passes through point P(2, -1, 4)
The electric field a + P is 12a, —8a,, - an/hi

Answer not known
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'148. The synéhronisation points location is decided by
(A) Physical Iayef - (B) Transport layer
) Session layer S (D) Presentation layer

(E) Answer not kndwn

149. A typical example for a TDM system 1is.

\/(ﬁ{ Multiplexing of Address and D;ta lines in a microprocessor
(B) A local telephone system :
(C) Broad cast Radio
(D) Broadcast TV
(E) Answer not known

150. In mesh topology, the relationship between one device and another is

(A) Primary to peer:

) vﬂ%{ Peer to Peer

(C)' Peer to primary
(D) Primary to secondary

(E) Answer not known

151._ In circuit switching, the path
| (A) to Abe followed depends on length of message

(B) upto next intermediate node is allocated before transmission of
' message begins '

¢© upto destination is allocated before transmission of message begins
(D) Both (A) and (B) |

(E) © Answer not known - .
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- 152. The biggest disadvantages of PCM is

(A) inability to handle analog signals _
(B) the high error rate which its quant1z1ng noise introduces
- (C) - 1ncompat1b111ty with TDM
) the requirement of larger bandwidth
(E) Answer not known ; |

153. Companding is used
(A) to overcome qu'antization noise in PCM ,
%EY “in PCM transmission, to allow amplitude limiting in the receiver
| (©) to protect small signals in PCM from quantizing distortion
(D) to overcome 1mpulse noise ‘
(E) Answer not known

- 154. Quantizing noise occurs in -
(A) TDM | (B) FDM

O PCM - (D) PWM
B Answer not known

155. The dev1ce select signals, CS, Al, AO are 0, 1, O respectively. The

‘selected I/0 port is
(A) Port A - (B) Port B
w( PortC : (D) 8255A is not selected

(E) Answer not known

156. Number of ports used in an expandedtmode in 8051 are,
(A) one | (B) two '

' (C) three D) four

(E) Answer not known
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157. Which the following statements are True in 8085 microprocessor?
1) CMP and SUB instructions are same
(1) INR instruction does not affect the carry flag
(i) XRA A instruction clears the accumulator and resets all ﬂags

except Parity ﬂag : ~ , S
(A) (@) only ; - (B) (1) and (i1)

A ) and Gi) (D) (i) only
- (E) Answer not known |

'158. Match the following
| ~ Type of Instruction Instruction
(a) One byte Instruction 1.. MVI, A, 32H
(b) 2 byte Instruction 2.. LDA 2050

(c) 3byteInstruction @~ 3. ADDB

@ ® ©
A1 2 3
B3 2 1
(C) 2 1 3
) 3 1 2
(E) Answer not known

159. 4 p1n 8086 indicates the presence of arithmetic co-processor

in the 8086 microprocessor system.
" (A) READY R - (B) DEN
(O BHE ) TEST

(E) Answer not known

160. Stator voltage control for speed control of induction motor is suitable for

A ~ fan and pump drives (B). drive of a crane
- (C) running it as a generator (D) constant load drive
(E) Answer not known o
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161. The output voltage Waveform of a 3¢ squére wave inverter contains -
(A) Only even harmonics
(B)_ Both odd and even harmonics
C)  Only odd harmonics
. (D) Only triplen harmonics
(E) Answer not known

-

162. Consider the following statements pertaining to Voltage Source Inverter

(VSD)

(1) Voltage Source Inverter has stiff d.c. voltage source at its input
terminals '

(ii) Voltage Source inverter, is one in which the d.c. source has small or
negligible impedance.

(111) Voltage Source Inverters are not suitable for multimotor drives

(iv) In Voltage Source Inverters, a short circuit occurs its terminals
| causes current to raise very fast.

All of these statements
\,(4‘() (1), (11) and (iv) are correct

(B) (i) and (iii) are correct

(O) '(i) and (i1i) are correct
(D) (i11) and (iv) are correct
(E) Answer not known

163. A single phase voltage source square wave inverter feeds pure inductive
load. The wave form of load currént will be - :

| (A) Sinusoidal ; (B) Rectangular
(C) Trapezoidal \/(ﬁ) Triangular
(E)  Answer not known ' .
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| '164. Match the List I (Convertef topology) Wi_th List II (Ripple frequency) ahd

- choose the correct answer:

- Last I (Con'vei'ter topology)‘ | V‘List IIi(Rippl“e‘Tfreq.uén.cy)_'i )
(a) Thiee phaée half | 1. 2fs
'C(.)ntrolle'd éonverfer | |
| (b) Single phase half wave o "2. 6 fg
controlled converter o - )
(o) Three phase fully‘ S | 3 3 fS
‘controlled ‘co.njvérter |
‘_(d)‘ Siﬁgle,P-hase fuily | s : | 4, ‘fS
éohtrolled conve‘rt'er
@ ® © @
@1 2 4 3
(B) 3  "'2f 4 | .1.
«6) 5 4 2 1
s 2 1 4

(E) vAnsw_er not known
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165. The ‘cooling‘time constant of a motor is usually

@
®

o
(®)

Less than heating time constant

Equal to heating time constant
More than heating time constant
Proportional to load

Answer not known

166. The voltage bloc»king capability of IGBT is determi’}ned’-by'

(A)

(B)

(€
)
(E)

‘injection layer - |

body layer
metal used for contacts
drift layer

Answer not known

1 67. The cirouit turn — off time of an SCR is defined as the time |

(A)
(B)

O

(D)
(E)

Taken by the SCR to turn off

..Requu'e for the SCR current to become Zero

For which SCR is reverse biased by the commutative circuit
For reducing current below holding current ' '

Answer not known ;

168. The latching current of SCR is 20 mA. Its holding cui'rent will be

(A) 23 mA
(B) 40 mA
\A( 10 mA
(D) 60 mA
(E) Answer not_ known
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169. Choose the correct statement with respect to the below given circuit _
DI’V

I .
©® AN

R

L

VQ()' The load voltage can never be negative
(B) The load voltage can never be positive
(C) The load voltage can never be zero
(D)  The load current can be negative
(E) Answer not known "

170. The pressure of SFe gas in circuit breaker 'is around
(A) 0.25 kg/cm?
(B) -1kg/cm?

AC) 4 kglem?.
(D) 40 kg/cm?

- (E) Answer not known

171. For aAsingle line to ground fault; on phase a , the terminal‘cbnditions are
VA Va=0;b=Ic=0 | |
(B) Vb¥O;Ia=Ic=O
() Ve=0;la=Ic=0
D) Va=0;Vb=0;Ic=0
(E) Answer not known
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172. If the fault current is 2000 A, the relay setting 1s 50% and CT ratio is
400/5, the plug setting multiplier is

(A)

(B)
©)
AT
(E)

25

15

50

10 . |
Answer not known

~ 173. Consider the following statements related to the functlon of a booster in
distribution network ' ‘

(1) Booster is a series dc generator connected in series with the feeder.

(2) Booster i is a series dc generator connected in parallel to the feeder.

3) F eeders can be regulated 1ndependently

Which of the following are correct‘?

(A)
(B)
)

(D)
E)

1 and2

2 and 3
1and 3
lonly
Answer not known

174, If capacitance between two conductors of a 3 phase line is 4 uF", then
| capacitance of each conductor to neutral is

(A)
©)

D)
(®)

CEEE/2022

4uF
8 uF
12 uF

0.25 uF

Answer not known
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175. The main drawback(s) of underground system over overhead system in
transmission and distribution of power is/are

(A) -exposure to lightning '

- JBS heavy initial cost
~ (C) - exposure to smoke, ice, wind
(D) interference between power and communication lines

(E) Answer not known

176. Pin type insulators are generally not used for voltages exceeding

@A) 66kV
SO 3LV
© 25kV
© 11kV

"~ (E) Answer hotvknOWn

177. In a transmission system the feeder supplies power to

(A) transformer substantions (step-up)
-(B) 'service»mains |
} distributors
(D) feeders
~ (E) Answer not known

s

178. If, the voltage magnitude V and phase angle 8 are specified for the bus,
the bus is classified as . - - -

v@ . Slack bus

B) Geﬂerator bus

(C) = Load bus

(D) Feeder

(E) Answer not known
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179. The number of units generated will be more, if the : is more.
(A) Cost factor

(B) Demand factor
(C) Depreciation factor

v Load factor

(E) Answer not known '

180. In which of the following power system economic calculation methods, a
fixed depreciation charge is made every year and interest compounded
on it annually?

(A) Diminishing value method

(B) Linear value method

\ACJ_ Sinking fund method -

- (D) Straight line method
(E) Answer not known

181. A steam power station has an overall efficiency of 20% and 0.5 kg of coal

is burnt per kWh of electrical energy generated. If the heat equivalent of
1 kWh is 860 KCal how much will be the calorific value of fuel.

(A) 860 KCal/kg

(B) 86 KCal/kg
w€) 8600 KCal/kg
(D) 344 KCalkg
(E) Answer not known

182. Digital to analog converter can be considered as a

vﬁ( decoding device ‘ (B) encoding device
(C) multiplexer | (D) summing amplifier
(E) Answer not known - |
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- 183. There are 100 turns in the moving coil of the moving coil instrument and
the coil is wound on a 3 cm side square former. If the flux density in the -
air gap is 0.06 Wb/m? and it carries a current of 12 mA, the deflecting
torque on the coil is .

A) 21 6 x 10 N-m
A  64.8x 106 N-m
(0 32.4x106N-m
(D) 42.3x 106 N-m

(E) Answer not known

184. Thermocouples works on
(A) induction effect

B seebeck effect
© piézo-electric effect
- (D) magnetostrictive effect
- (E) Answer not known

185. Dummy strain gauges are used for

v@ compensation of temperature changes

- (B) increases of the sens1t1v1ty of bridge in which they are included
‘(C) compensatm_g for different expansion -
(D) c_alibration of straingaugés '
(E) Answer not known

186. The transducer that converts measurand into.the form of pulse is a
transducer.

\/6 digital N (B) active - ’
(C) analog (D) pulse :
" (E) Answer not known
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187. In spring-controlled moving Iron instrument, the scale is

~ (A)  Uniform '

V(Br Cramped at lower end and expanded at the upper end
(C) Expanded at lower end and Cramped at upper end
(D) Cramped both at lower and at the upper end
(E) Answer not known

188. A dual beam CRO uses

(A) ' Electronic Switch
| VeBY Two sets of VDPs and s1ngle set of HDPs
© One electron gun
(D) Two time base generator circuits
(E) Answer not known

189. The bridge shown in ﬁg 1s balanced. The value of R3 and L3 will be

| A 1209,0.12H
o 240 Q,0.12H
(C) 280 Q, 0.129 H-
@) 1200,024H .
(E) Answer not known
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190. To measure precise inductance from a few uH to several henries,

bridge is used.
" (A) Maxwell’s

(B Hay

(C) Maxwell-Wein

ﬂ Anderson

(E) Answer not known
rd

191. The material of wires used for making resistance standards is usually

M Manganin
(B) Nichrome
(C) - Copper
(D) Phosphor bronze
(E) Answer ho.t known

192. If y= 30 sin('wt‘+ 10°')V and .vé =20sin(wt + 50° )V, which of fhese
statements are true? ’ L
(A) v, leads v,
AD vy leads vy
- (C) v and v, are in phase with each other
(D) v, and v, are e;;actly out of phése with each other
(E) Answer not known o
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193. The input and output impedahce of the two port network shown 1in the
| figure respectively |

S 4Q | .
T WA—T— 5

sng- ~§4Q

1 S 2

A 10,30 . (B) 40, 20

© 30,20 D 20,10

(E) Answer not known

194. The h-parameters h;; and h,, are obtained

V@_‘f)/ by shorting output terminals

(B) by opéning input terminals
(C) by shorting input terminals
(D) | ‘by opening output terminals

(E) Answer not known

195. The current in a 2H inductor varies at a rate of 2 A/S. Find the energy
~ stored in the magnetic field after 2S. |

Q) 45 - (B) 32

& 163 | D8

(E) Answer not known
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196. An RC circuit with R = 150 Q and C = 2 uF is excited by a de¢ source of

15V by closing the switch at t = 0. The initial and final voltage across the .

capacitor are respectively.
A) 10V,15V
B) 15V,0V

. 42)’ 0V, 15\}

®) 0V,10V

(E)' Answer not known

197. Two series resonant filters are shown in the figure below. Let the 3-dB

bandwidth of filter 1 is B, and that of ﬁlter 2 be B,. The value of % 18

C, L,
o—— —"300 ——1—o°
+ +
Vi | § Vo
o R
- -
@A) 4
® 1
(C) 1/2
-\/ﬁ) 1/4
E 4
| (E) Answer not known
o 4 | - 59

| L,
C,=4C, Ly= 4

'Vl

|—— T

2 .

o |
+ +
S v
R
- -
CEEE/2022

[Turn over



198. Thevenins voltage (Vrn) and Thevenins resistance (RTh) at terminals a
and b in 01rcu1t shown below is

50
_/\M
5OV T po ;209
(A) Vm=50V,Rm=20Q 8 Vm=40V, Rmn= 40
(C) V=4V, Rm=40Q =~ (D) V=50V, Rm=5Q

(E) Answer not known

199. The voltage v, across the capacitor in the circuit is

+ 1Q
0"y (v __+
1016V ) %
| 5/0°V (B) 7.071| 45° V
W& 1071|-45°V (D) 5| -45° V

(E) Answer not known

200. Find the voltége V, of the circuit shc)wh below,

i6Q g (% A90°A == -j3Q

(A) —24V (B) -8V

(C) 8V | .4,3{24\_7

(E) Answer not known
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